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A Solution of Beam Problems

Mitsuo Sekikawa

There ére many cases in which discontinuity takes place in beam problems,
so that this study is to try to find out a solution of these problems by the con-
finuous expression of bending moment by trigonometrical series. This solution
can be applied to many cases. To efficien‘tly calculate, »n in the series expressi-
on will be taken from 1 to 5, and the results are indicated in the tables. It is
also shown in these tables that the comparison with these values and the values
from former discontinuous expression ; these tables therefore show the range of

application of this method.
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